pKa values relevant to CEM 850
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nitrogen compounds

H ®
® ® ® (\’\§ /_/7 \
Me—C=N-H PhsNH PhoNH, N ~C=
S N=C=N
H —/
pKa =10 pKa = -5 pKa =0.8 pKa =3.0 EDCIH*
pKa =10

(pKa of EDCIH,*2 = 3.1)

N o~ ® MeO
HN3 | ® © | ® H\N’R ,\N(?Me
N HsN—NH, N J\ H )
' ! R” “OR H
H H
pKa =4.6 pKa = 4.95 pKa=5 pKa =5.2 pKa =6 pKa =6
o ®
H H.”.M H®
NAD [@j Me®.H N CN N—-H
__N-H X N P /NS H
o | ® H
H  Me Me™ "H H
pKa=7 pKa=7.4 pKa = 7.86 pKa = 8.7 pKa =8.9 pKa=9

( @ENOZ N 4
@ ® N- N. _CO,Et
N-H NHz  Et,NH n-BugNH [@j VM Eo,c NTT?
H® H '

S
2
5 o o
pKa =9.6 pKa=10.1 pKa=10.75 pKa=10.89 pKa=11 pKa = 11
(o) @ H%,H E E H%,H
SO S G RGO I ¢
H H RN NS NS
H H Me NH, N N HoN NH,

pKa=11.2 pKa=11.2 pKa=124 pKa=12.5 pKa=12.7 pKa = 13.6

NH, H H H
NH @NHQ N-N H-N N-H
0 H H H —<

pKa = 23.3 pKa = 25.5 pKa =27 pKa =28 pKa=34 pKa=36

@)

)

pKa = 4.6

pKa = 11

Ej\/\>
N
H

pKa = 21



carbon compounds
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sulfur compounds
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